Chapter 1. Economics and the economy

Tutorial Exercises
1. Ask your students to think of the opportunity cost of attending your lectures. Then ask the students to tell you the sum total of the opportunity cost of attending your lectures in the one week. 

2. Ask the students to tell you the opportunity cost of their attending the university for: i) them; ii) their parents; iii) the nation as a whole. 

3. Consider an economy with workers who can make cars and beer. The table below shows the combinations of cars and beer made if all workers have jobs:

	Beer workers
	Output
	Car workers
	Output

	3
	13
	0
	0

	2
	11
	1
	10

	1
	7
	2
	18

	0
	0
	3
	22


i) Draw the production possibility frontier for this economy. 

ii) What is the opportunity cost of increasing beer output from 7 to 11 units?

iii) Adding an extra beer worker increases beer output, but each extra worker adds less to output than the previous extra worker added. Why? 

iv) Plot the following output levels on your diagram: 

A: 5 units of beer & 5 cars 

B: 15 units of beer & 20 cars 

C: 11 units of beer & 1 car 

Is each of these points efficient, inefficient or unattainable?   
4. Consider two individuals: Fred and Ernie. Both can produce two different goods, bread and cheese. Fred is very good at cheese production and he can make 8kg in 1 hour. Alternatively, he can bake 4 loaves of bread in 1 hour. On the other hand, Ernie can produce 2kg of cheese in 1 hour or alternatively can bake 4 loaves of bread. Suppose that both cannot work more than 12 hours a day.
i) Who has an absolute advantage in producing cheese? 
ii) Who has an absolute advantage in producing bread? 
iii) What does Fred have a comparative advantage in producing? 
iv) What does Ernie have a comparative advantage in producing?
v) Calculate total production if they each split their time equally between producing bread and cheese. 
vi) Now assume that they specialize entirely in the producing the product for which they have a comparative advantage. Calculate total production of each product and show that there are gains from trade. 
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Solutions to Tutorial Exercises 

1. The opportunity cost is the next best alternative, which would have been carried out had lectures not been attended. If one lecture is at 9am on Monday morning, then perhaps the alternatives your students have are staying in bed or watching breakfast TV. Your second lecture is on Friday at 4pm. Perhaps the alternatives for your students in that instance are going early to the student bar, or going shopping for a party that’s planned for the weekend.

(Of course the right answer is not the four alternatives added together, but only two - or possibly three, if on a Monday morning a student can combine staying in bed and watching breakfast TV!) Some, of course, are alternatives to each other and can’t both be done – like going to a bar and going shopping.

2. Opportunity cost of their attending the university for: 

i) Them – the earnings foregone from non-graduate employment, plus any additional living expenses, travel and books associated with being at university, and tuition fees.
ii) Their parents – the next best alternative to financially supporting their child through university for example a bigger house, holiday, new car. 
iii) The nation as a whole – the next best alternative to funding university place for example increased health spending or reduced taxation.
ii)  
Increasing beer output from 7 to 11 units requires the number of beer workers to be increased from 1 to 2. This means the number of car workers must fall from 2 to 1. Output of cars therefore falls from 18 to 10. The opportunity cost of increasing beer output from 7 to 11 units is therefore 8 cars. 
iii) This is because of the law of diminishing returns. The law of diminishing returns applies when one input (such as labour) is varied but other inputs (such as equipment and land) remain fixed. Suppose workers in the beer industry can use a fixed number of machines. The first worker has sole use of these facilities. With more workers, these facilities must be shared. Adding extra workers dilutes equipment per worker. Output per beer worker falls as employment rises. A similar story applies in the car industry. 
A: inefficient 

B: unattainable given the available resources  

C:  efficient 

4. 

i) Fred, he is more efficient at producing cheese. 
ii) Neither, they are both equally efficient at producing bread. 
For Fred producing 1 more loaf of bread takes 15mins. In 15mins he could have produced 2kg of cheese.

For Ernie producing 1 more loaf of bread takes 15mins. In 15mins he could have produced 0.5kg of cheese.


Fred has a higher opportunity cost of producing 1 more loaf of bread. 


Ernie has a comparative advantage in producing bread. 

iii) For Fred producing 1 more kg of cheese takes 7.5mins. In 7.5mins he could have produced 0.5 of a loaf of bread. 

For Ernie producing 1 more kg of cheese takes 30mins. In 30mins he could have produced 2 loaves of bread. 


Ernie has a higher opportunity cost of producing 1 more kg of cheese. 


Fred has a comparative advantage in producing cheese. 

iv) If they each split their time equally between producing bread and cheese: 
Fred produces: 48kg of cheese & 24 loaves of bread
Ernie produces: 12 kg of cheese & 24 loaves of bread
Total production: 60 kg of cheese & 48 loaves of bread 

v) If Fred specializes in producing cheese and Ernie specializes in bread: 

Fred produces: 96kg of cheese
Ernie produces 48 loaves of bread 

Total production of cheese has risen whilst production of bread is unchanged. 

There are now potential gains from trade, for example Ernie could give Fred 24kg of cheese in exchange for 24 loaves of bread. Then: 

Ernie has: 72kg of cheese & 24 loaves of bread 

Fred has: 24kg of cheese & 24 loaves of bread 

They are both better off compared to when they split their time equally between producing bread and cheese and did not trade. 
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